SHSEE 4ARDITEFE(4H20HETIE R T ST P AR PR
B | BE FIRITE T
11+
2|8
3| A
4 X
5(7K
6| AR |FiEXX BEX £8:11:30
71& (AKX 24511:30
8|t
9|8
10| A BRI BIMEE SEEZE—FTK £1314:35
11N | BRBEHEE BREE—FTR £1%14:35
12|7K |EEERBREHE S5EZE—F T £114:35
13| K [ZEESD 1:2:3-4414:35 5:6415:25
14|€ [T 20T — 1:2414:35 3-4:5-6415:25
15|
16| H
171 A £$15:05
18| N | 2EZH-FERRAE(6F) HHEESDT=0H1420TFHK |28 14:20
19| 7K |88t %5 (BEER) 1:2414:35 3:4+-5-6415:25
20K |HMEIFEGRERANE) FELQ ££IREH 1:2:3:4%14:35 5-6415:25
2= ) 4N AL 318 5 it g‘gy\% L .
21¢ (FDE= TESHED  FREH SH15:10 (T4 SR AL)
22| |(B)BEEAR
23| H
24 ﬁ £ #:15:05
25| N I AEEOHTESIES SRE—F TR REE-HhigiERE |£#14:35
267K |BEBIEHE SEEZ—FTR REE-#EESE |24K14:35
27| A< 1-2-3-4414:35 5-6415:25
REREDENGR) XvrHEbRY AE RAlE AR
28|% fefr = & (4) 1:2414:35 3-4:5-6415:25
29| |(#)ERFIDH
30 H




